MAZ14 Spring 2009
Test #2 - 100 points
10 April 2009

NAME: gaiu'ﬁom}

INSTRUCTIONS: PLEASE WORK ALL FOUR PROBLEMS BELOW. PLEASE
WRITE YOUR NAME ON EACH PAGE. NO CALCULATORS, BOOKS, PA-
PERS, OR NOTES ARE ALLOWED.

Each problem is worth 25 points.

1. Find the unique solution to the initial value problem:

y'(t) +4y'(¢) + 4y() = 0, y(0) =1,4'(0) = 0.
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2. Find the most general solution to the ODE:

-t

V() +20' (1) +yH) = —, t>0.
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3. Find the unique solution to the driven harmonic oscillator ODE with initial
conditions at rest:

‘va\ \ caw\ o~ soln,
(utsst

SuLoA

%.\({,): wed bty ) —on -

y" () +4y(t) = 10e7", y(0) =0, y'(0)=0.
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4. Find the unique real solution to the ODE with initial conditions:

y'(t) = 2y'(t) + 5y(t) = 0, y(n/2)=0, y'(x/2) =1
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